V1.1.1 - August, 2004 Page 1 of 2

JAY-LOR

Cutter - Mixer - Feeder

03 - LADDER

“Putting the ‘Total’ into TMR”

JAY-LOR? Fabricating Inc.
RR # 2 Orton, Ontario, Canada, LON 1NO  Tel: (519) 787-8058 Fax: (519) 787-7053

To Print this Section, Click Here



V1.1.1 - August, 2004 Page 2 of 2

8 [@3/8" NUT 13
7 | @3/8" LOCKWASHER 13
6_|@3/8" x 1-1/4" CARRIAGE BOLT 3
5 |@3/8" x 1-1/2" BOLT 5
4 |RIGHT SUPPORT ARM 1 030-00-45
3 |LEFT SUPPORT ARM 1 030-00-48
2 |UPPER LADDER ASSEMBLY 1 [030-04-11
1_|LOWER LADDER ASSEMBLY 1| 030-04-10
NO.|[PART DESC. QTY|PART NO.
PARTS LIST
~(¥) - DENOTES INDIVIDUAL PART (oD
- DENOTES ASSEMBLY/SUB-ASSEMBLY pre—LE APPLICABLE °
AUG 1/03 |_ 1 of 1 o
"™ 3000 SERIES LADDER ASSEMBLY PARTIASSENBLYN: 030-04-00

To Print this Section, Click Here





